BSB—T REZLAHNRY 1.5

00172

(40T~60T) 49, (80T) 50— &..
63 s

22783-0411-2



BSB—T X&=

LiAFH/NLT D 2./5
M & mE Baa R % = "% % = H # % = H & 2 = HE i & &
40T 50T 60T 80T
1| 22727-1111-1 | #9335° 7 1 1 1 1
2 | 22714-1112-2 | %497 1 1 1 1
3 | 03004-50614 | # 4" 3u$33y" 1 1 1 1 MEX14
4 | 08141-06202 | & WA 7Yu4° 2 2 2 2 6202 LLU
5 | 04014-50140 | t3%° 5% 1 1 1 1 M14 (¢ 30Xt3. 2)
6 | 22727-1112-1 | # 2(1, 27" 9v4") 1 1 1 1
7 | 04611-00350 | 7H4-9Yy7° 1 1 1 1 R-35
8 | 01123-50816 | &k 3 3 3 3 M8X16
9 | 04013-50080 | £3%°# % 5 5 5 5 M8 (¢ 18Xt1. 6)
22727-1113-1 | 27°Yv9" (Woyh) 1
" 22728-1113-1 | 27 94" (nuyh) 1
22729-1113-1 | A7° 94" (Woy) 1
22730-1113-1 | 27" Yv9° (hv9) 1
11 | 22875-2116-1 | & ¥} (10X30) 1 1 1 1 M10X30 P1.25
12 | 02118-50100 | Fyb 1 1 1 1 M10 P1.25
22727-1114-1 | #-2(wyh) 1
, 22728-1114-1 | %2 (AoyY) 1
22729-1114-1 | 4= (oY) 1
22883-1113-5 | nvyon 47’ 1
14 | 22871-1125-3 | pan b 3 3 3 3
15 | 22727-1115-1 | #" 4} (k-3) 1 1 1 1
16 | 22727-1116-2 | " 47" (bvay29) 1 1 1 1
17 | 22767-1138-1 | 95—+ (b92ya9) 3 3 3 3
18 | 01025-50616 | &' Wb 3 3 3 3 M6X16
19 | 22783-1110-1 | #-2, 397" (}ay) 1 1 1 1 20~24
20 | 22783-1111-1 | #=2 (M) 1 1 1 1
S wEmsxmT X FESSEAFE S| FERGESKICRET 1 IFER & (AT R0 I <A AT

22783-0411-2



AHAHNLOY

BSB—T KXZ&=E 3.5
mE &= R A BE | g [ 2B g [ AR m [ BB oy =
40T 50T 60T 80T

21 | 22777-4113-1 x94 (Mayad) 2 2 2 2
22 | 22767-1134-1 [AVIOZTT ) 2 2 2 2
23 | 22777-4114-1 | 27°Uu5° (Ye9d) 2 2 2 2
24 1 13216-1113-1 | 9+ (T y¥a) 2 2 2 2 o5
25 1.22730-1121-2 | § 22, 27°Yv9") 1 1 1 1
26 | 03651-00808 (F¥a 2 2 2 2 MBX8 & 34+
27 | 22727-1122-1 wa 77 Yvs) 2 2 2 2
28 | 01053-50610 A b 4 4 4 4 M6X10
29 | 04512-50060 N h % 4 4 4 4 M6
30 | 22783-1112-1 h3- 7k, 24) 1 1 1 1
31 | 22777-4116-1 | 3"~ (byayay) 2 2 2 2
32 | 5J012-5136-1 LA™ -5k 4y 4 4 4 4 M6X20
33 | 57471-5117-1 1990%° 4 4 4 4 M6 (@ 19Xt1. 6)
34 | 04012-50060 E5% 8 4 8 8 8 8 M6 (o 11. 5Xt0. 8)
35 | 02021-50060 Tyb 4 4 4 4 M6
36 | 22777-4115-2 | " -V (2v%) 1 1 1 1
37 221 24-1112-1 | 99959 ity 1 1 1 1
2 22783-2111-2 | £-% (200V-1. OkW) 1 1 1

22786-2111-2 | £-4(200V-1. 5kW) 1
39 | 01153-50820 i A3 4 4 4 4 M8X20
40 | 02121-50080 Tyt 4 4 4 4 M8
41 | 34150-2939-1 | a-V 457 2 2 2 2
" 22783-2120-1 992, Tyy (avia-p) 1 1 1 43~67

22786-2120-1 & 9hR, 7oy (avia-n) 1 43~67
43 | 22727-2212-1 | & yhAa(avbo-)) 1 1 1 1
44 | 22735-2122-1 | 3A° W (GK v9R) 1 1 1 1

S semawEd X FESRRAFT <] SesLRSecRET — ] EHREHBLRET

22783-0411-2



BSB—T XZFELiAAH/NNROY 4./5
HE 8B 58 % B  ea 22 s | 22l s | 22 5 %
40T 50T 60T 80T

45 | 22735-2131-2 | Hn'-(1, avba-p) 1 i 1 1
46 | 01023-50612 & Wb 9 9 9 9 M6X12
47 1 22727-2213-1 | 7" 359+ R4y 1 1 1 1
48 | 22727-2122-1 | #n" -(2, 3vb0-) 1 1 1 1
49 | 22735-1181-2 | 7794 (1240) 1 1 1
50 | 14312-2185-2 | 77 wyuh (1247) 1 1 1 2
51 | 22735-2134-1 | 3z~ 1 1 1 1
52 | 22735-2135-1 o=y b 1 1 1 1
53 | 03054-50416 A 33Y° 2 2 2 2 M4X16
54 | 04512-50040 Nh 4 6 6 6 6
55 | 02054-50040 Fyb 6 6 6 6
56 22303-3115-1 | 7 u¥ hqn{% 1 1 1

22758-3115-1 | ¥ U¥ #{n% 1
57 | 22731-3121-1 | ¥ 9b397" a{-y" 1 1 1 1
58 | 03054-50412 A 3Ry 4 4 4 4 M4X12
59 | 22124-2115-1 | 443~ 1 1 1 1
60 | 22124-2116-1 | #49-5u94°4 1 1 1 1
61 | 22735-2138-1 | #+4v7" 3hyb (FLVY") 1 1 1 1
62 | 22124-2125-1 | #4v7° 59 (byh") 2 2 2 2
63 22735-2227-1 - F ) 1 1 1

22786-2121-1 | 3+ (Fvh" ) 1
64 | 22731-3131-1 | #¥337° 34" 4P 1 1 1 1
65 22727-2121-1 | 3-F (347" 54%) 1 1 1

22786-2122-1 -8 3477440 1
66 | 22782-2218-1 | #Uk 4va{yF 3 3 3 3
67 | 22727-2123-1 | 3-F (M) 1 1 1 1

S wemaxmw X% FESKEATT <] SuscESRcRmT <1 BHREHES&CERT

22783-0411-2



BSB—T XKZEELAANRIOY 5/5
o w2 ¥ E % B
Bk m B Had W HE # H # H i E # s &
, 401 50T 60T 80T

68 | 22882-2117-1 | &3t~ 1 1 1 1 bl A
69 | 02021-50050 | $b 1 1 1 1 M5
70 | 22783-2510-1 | 44 -1, 7" (W' 47°) 1 1 1 2 T1~T72
71| 22701-1181-2 | & -b (v 47°) 1 1 1 2
72 | 22701-1132-2 | 3-F (9 -H1) 1 1 i 2
73 | 19115-1133-2 | 740 i 1 1 2
74 | 22783-3111-1 | M79b{EIAYa 1 1 1 1

22783-3112-1 | 38" b (h594) 1
2 22784-3111-1 | 37" I (h4¥%) 1

22785-3111-1 | 3" b (B454) 1

22786-3111-1 | 58" b (h43%) !
76 | 22111-1133-1 | #4753-5 1 1 1 1
77 | 22714-3113-1 | #hva9Uatya 1 1 1 1
78 | 22714-3114-1 | #hv7" 40 1 1 1 1
79 | 22735-3116~1 | 34" b (r{29) 1 1 1 1
80 | 22132-3115-1 | 3~" B (2, F294) 1 1 1 1
81 | 22731-4113-1 | 38" b (M) 1 1 1 1

S sEmasmT X FESSERRT 0 <] SnAuESKcEmT <  OBRRHHSCERT

22783-0411-2



